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#include <stdio.h>
#include<math.h>

double dxdt(int n, double t, double x1, double x2);
void solver(double t_0, double x1_0, double x2_0, double h, int steps);

int main(void){

double t_0 = 0.0;
double x1_0 =1.0;
double x2_0=0.0;
double h = 0.05;
int steps = 200;

solver(t_0, x1_0, x2_0, h, steps);

return(0);
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double dxdt(int n, double t, double x1, double x2)1
if(n == 1){
return x2;
telse if(n == 2){
return -x1;

}

return(0);

}
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void solver(double t_0, double x1_0, double x2_0, double h, int steps){
int 1;
double t = t_0;
double x1 =x1_0;
double x2 = x2 0;
double x1_analytical, x2_analytical, x1_new, x2_new:;

printf("t,x1,x2,x1_analytical,x2_analytical¥n");
for(i=0; i<steps; i++){
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x1_analytical = cos(t);
x2_analytical = -sin(t);

printf("%.2f,%.5f,%.5f,%.5f,%.5f¥n", t, x1, x2, x1_analytical, x2_analytical);
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X2 = X2_new;
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#include <stdio.h>
#include <string.h>

typedef struct proteint{
char *name;
char *seq;
int count;

}JPROTEIN;
void sort(int n, PROTEIN arr[]);

int main(void){
inti, ik
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char essential AAs[9] = {'H', 'T', 'L', 'K', 'M', 'F', '"W'", '"T", 'V'};

PROTEIN pl3] = {
{"protein_a", "MLPRVGCPAL", 0},
{"protein_b", "CPPCTPERLA", 0},
{"protein_c", "SPEQVADNGD", 0}
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for(i = 05 i<3; i++){
for(j=0; j<10; j++){
for(k=0; k<9; k++){

if( @ N
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plil.count += 1;

}
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sort(3, p);

for(i = 0; i<3; i++){
printf("%s¥n", plil.name);

(a)

}

return(0);

}

void sort(int n, PROTEIN arr[]){
int 1, j;
PROTEIN temp;
for (i=0; i<n-1; i++) {
for (j=0; j<n-i-1; j++) {

if ( @ )1

temp = arr[jl;
arr(jl = arr[j+1];
arr[j+1] = temp;




